000 Hamiltonian 0000000 Symplectic0 00000000

H(q,p) =T(p) +V(q) (1)

obooboboboboobobobpd ebobOoIroobooon
00 Hamilton D O OO Liouwville OO0 Ly 00000000 OOODOO

dl’ .
i {T,H} =iLyT (2)
JHb 0A 0 0A O
B B
By =50 o~ o 0q (3)
O PoissondO0OO0OO0OOOO0O (Z)DDDDDDDD
[(t 4 7) = exp(riLg)T(t) (4)

O00O0OLiowilleD ODOODOOO0DOO0OO ¢Ly =iLyr+:iLy 00000
g -r0bbbodgooooobbbobbbodooooooboboo
goobogo

exp(TiLy) = exp([T(iLy +iLy)| ~ exp(TiLr) exp(TiLy) (5)

0000000000000 0O0bDOoO00Dn SymplecticDOOOOOO
gboboboooobbobuoooobbboooobon

~ exp(TiLr/2) exp(TiLy ) exp(TiLr/2) (6)
()0 00000 -000000000O0DODODOO
[(t + 7) ~ exp(7iLr) exp(TiLy )T (¢) (7)

D00000000000000000 exp(rily) O exp(rily) 000
00 Hamiltonian O T'(p) 0 V() OOOOOOODOOODO 70000
O00000000D000D00 SymplecticOOOOOODOOODODODO
OO00000000 SymplecticO0 OO DO0O00ODOO0ODOOOOOOOO
gobooboooobbobooobooooboobooooooobooon
exp(riLr) 0 exp(riLy) 0000000000000 000000000

000000
orT oV
qt+71)=qt) +7 5 pt+7)=p(t) =7 -

D
p(t)
000000 Symplecticd 00 00O O Hamiltonian 000000000
000000000000 0000000o0O0ooo0 2

op ’p(t),q(twtf)
t+7) 0000000000000 00OODOOCODOO




000 Hamiltonian OO OO0 OO0 OO O Symplecticd OO O Hamil-
tontanO0 00000000000 Hamiltonian /OO0 0O0O0OOO0O

exp(7iLy) exp(Tily) = exp(TiLy)

gboboboogogn

2

H' =T+ V4 VT + ({VT) T+ {VT1 V) + -

000000 Hamiltonian 0 OO0 0000000
H=1(+p)000

H =H+ %pq +O(1?)
H=3¢+3p'000
H =H+ %pq?’ + 0O(7?)
0 (10) 0 0000 00 Baker-Campbell-Hausdorff 0 O O

expXexpY =expZ
1

Z=X4Y + X Y]+ (XY + VXY + oo

2 12

[X,Y]= XY - YX
00000000

gooo

0000000000000000000,0000 384, 37 (1995)
00000000000000,0000 434, (1999)~ 450, (2000)

(9)

(10)

(11)



